632

2 x|

« HlO]A

ZA-M 4@l Shore A AT 85.
‘4

ot =3 ZH.

INOX

Stainless St

SRH.INOX

Y7 =E

I =

AISI 304 AH|QlFA AL
« Hjo[A

A-M 4 @mal, Shore A A 85.
L] L:iE

AISI 304 AH|QIYA AEL

d d
i ﬂ i
| i
1 1
\ \
| |
_ | _ ‘
i i
\ \
\ \
_ TRERRANN T
d d
Elesa & =2 K% q Elesa & =2 K|z q
3c AHQS d I h di g ac AFQE d I h di g
GG.AUT40 | SRH.M5x45 M5 45 11 10 9 GG.AU540 | SRH.SST-M5x45 M5 45 11 10
GG.AUT41 | SRH.M6x55 Mé 55 12 13 16 GG.AU541 | SRH.SST-M6x55 Mé 55 12 13 16
GG.AU142 | SRH.M8x68 M8 68 16 16 33 GG.AU542 | SRH.SST-M8x68 M8 68 16 16 33
GG.AU143 | SRH.M10x80 MI10 80 20 20 64

ElES | ELESA 3Y B

2

[l

ol o et T AR,

—

ELESA =HS MY O & EXME G7leit.





